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EXERCISE V. V^
1. The quotient exceeds the divisor bym th«
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"*", ^^'® numbers is thirty three

thonsaiid eight hundred and eighty-three : tie firatnumber IS 4183, the second 2796, the third 8095
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4. The product of four numbers is 37072962

number?
*^^™ ^'' ^^' ^^' ^^^ ^'^^^^ i« the fourth

5. The divisor and quotient are equal • theirsum ,s 15906, and the remainder is thrieatest
whole number possible. Find the dividend

i7K±t Jl^
dividend is 76841397, the quotient is

170436, ^the remainder 429 ; what is the divisor ?

7. Add together the sum, difference, productand quotient of 849 and 5397093.
^

'79^^^' J'?? ^^^ ^"^ vf ^ times (437+609+ 865+723^ and 11 times (437+509+865+723.)
9. After 965 has been subtracted 2796 timestrom a certain number, there is a remainder of 96l c

iiwiii wiiat wutauer did I subtract ? 'i** /

u. % J? ,^°^^^^ *"^ 2^ c^ws are wbrt1i> 2623^ dbl^
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